Current Rates (August 1, 2011)

Proposed Rates (2014)

1.0077

Increase Multiplier

SECTION 9A

Residential		Franchise	Rate	Sub-	Processing	Customer		
Residential	Contract Fee	Multiplier	Total		Fee	Rate Total		
Garbage	\$13.79	1.05	\$14.48		\$2.00	\$16.48		
Recycling	\$1.55	1.05	\$	1.63	\$0.20	\$1.83		
Total Residential	\$15.34		\$1	6.11	\$2.20	\$18.31		
(Note: Recycling Processing Fee is actually for purchase of recycling bags)								

SECTION 9A

Residential		Franchise	Rate	Sub-	Processing	Customer			
Residential	Contract Fee	Multiplier	Total		Fee	Rate Total			
Garbage	\$13.90	1.05	\$14.59		\$2.00	\$16.59			
Recycling	\$1.56	1.05	\$	1.64	\$0.22	\$1.86			
Total Residential	\$15.46		\$1	6.23	\$2.22	\$18.45			
(Note: Recycling Proce	(Note: Recycling Processing Fee is actually for purchase of recycling bags)								

SECTION 9B

Hand Pick 90 Gal.		Franchise	Rate Sub-	Processing	Customer
Commercial	Contract Fee	Multiplier	Total	Fee	Rate Total
Once a Week	\$20.42	1.05	\$21.44	\$2.00	\$23.44
Twice a Week	\$31.47	1.05	\$33.04	\$2.00	\$35.04
Three a Week	\$42.51	1.05	\$44.64	\$2.00	\$46.64
Four a Week	\$53.55	1.05	\$56.23	\$2.00	\$58.23
Replacement Carts	\$49.69	1.05	\$52.17	\$2.00	\$54.17
Hand Commercial		Franchise	Rate Sub-	Processing	Customer
Each Extra Container	Contract Fee	Multiplier	Total	Fee	Rate Total
Once a Week	\$9.94	1.05	\$10.44	\$2.00	\$12.44
Twice a Week	\$19.88	1.05	\$20.87	\$2.00	\$22.87
Three a Week	\$29.82	1.05	\$31.31	\$2.00	\$33.31
Four a Week	\$39.75	1.05	\$41.74	\$2.00	\$43.74
Replacement Carts	\$49.69	1.05	\$52.17	\$2.00	\$54.17

SECTION 9B

	_					
Hand Pick 90 Gal.		Franchise	Rate	Sub-	Processing	Customer
Commercial	Contract Fee	Multiplier	Tot	tal	Fee	Rate Total
Once a Week	\$20.58	1.05	\$2	21.61	\$2.00	\$23.61
Twice a Week	\$31.71	1.05	\$33.30		\$2.00	\$35.30
Three a Week	\$42.84	1.05	\$4	14.98	\$2.00	\$46.98
Four a Week	\$53.96	1.05	\$5	6.66	\$2.00	\$58.66
Replacement Carts	\$50.07	1.05	\$5	2.58	\$2.00	\$54.58
Hand Commercial		Franchise	Rate	Sub-	Processing	Customer
Each Extra Container	Contract Fee	Multiplier	Tot	tal	Fee	Rate Total
Once a Week	\$10.02	1.05	\$1	0.52	\$2.00	\$12.52
Twice a Week	\$20.03	1.05	\$2	21.03	\$2.00	\$23.03
Three a Week	\$30.05	1.05	\$3	31.55	\$2.00	\$33.55
Four a Week	\$40.06	1.05	\$4	12.06	\$2.00	\$44.06
Replacement Carts	\$50.07	1.05	\$5	2.58	\$2.00	\$54.58

SECTION 9C SECTION 9C

Two Cubic Yard		Franchise	Rate Sub-	Processing	Customer		Two Cubic Yard		Franchise	Rate Sub-	Processing	Customer
Container	Contract Fee	Multiplier	Total	Fee	Rate Total		Container	Contract Fee	Multiplier	Total	Fee	Rate Total
Once a Week	\$48.59	1.05	\$51.02	\$2.00	\$53.02		Once a Week	\$48.96	1.05	\$51.41	\$2.00	\$53.41
Twice a Week	\$86.12	1.05	\$90.43	\$2.00	\$92.43		Twice a Week	\$86.78	1.05	\$91.12	\$2.00	\$93.12
Three a Week	\$124.77	1.05	\$131.01	\$2.00	\$133.01		Three a Week	\$125.73	1.05	\$132.02	\$2.00	\$134.02
Four a Week	\$162.31	1.05	\$170.43	\$2.00	\$172.43		Four a Week	\$163.56	1.05	\$171.74	\$2.00	\$173.74
Five a Week	\$200.95	1.05	\$211.00	\$2.00	\$213.00		Five a Week	\$202.50	1.05	\$212.62	\$2.00	\$214.62
Six a Week	\$246.22	1.05	\$258.53	\$2.00	\$260.53		Six a Week	\$248.12	1.05	\$260.52	\$2.00	\$262.52
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80		Casters & Locks (each)	\$5.56	1.05	\$5.84	\$2.00	\$7.84
Three Cubic Yard		Franchise	Rate Sub-	Processing	Customer		Three Cubic Yard		Franchise	Rate Sub-	Processing	Customer
Container	Contract Fee	Multiplier	Total	Fee	Rate Total		Container	Contract Fee	Multiplier	Total	Fee	Rate Total
Once a Week	\$66.25	1.05	\$69.56	\$2.00	\$71.56		Once a Week	\$66.76	1.05	\$70.10	\$2.00	\$72.10
Twice a Week	\$109.31	1.05	\$114.78	\$2.00	\$116.78		Twice a Week	\$110.15	1.05	\$115.66	\$2.00	\$117.66
Three a Week	\$152.37	1.05	\$159.99	\$2.00	\$161.99		Three a Week	\$153.54	1.05	\$161.22	\$2.00	\$163.22
Four a Week	\$195.43	1.05	\$205.20	\$2.00	\$207.20		Four a Week	\$196.93	1.05	\$206.78	\$2.00	\$208.78
Five a Week	\$238.49	1.05	\$250.41	\$2.00	\$252.41		Five a Week	\$240.33	1.05	\$252.34	\$2.00	\$254.34
Six a Week	\$288.18	1.05	\$302.59	\$2.00	\$304.59		Six a Week	\$290.40	1.05	\$304.92	\$2.00	\$306.92
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80		Casters & Locks (each)	\$5.56	1.05	\$5.84	\$2.00	\$7.84
Four Cubic Yard		Franchise	Rate Sub-	Processing	Customer		Four Cubic Yard		Franchise	Rate Sub-	Processing	Customer
Container	Contract Fee	Multiplier	Total	Fee	Rate Total		Container	Contract Fee	Multiplier	Total	Fee	Rate Total
Once a Week	\$77.29	1.05	\$81.15	\$2.00	\$83.15		Once a Week	\$77.89	1.05	\$81.78	\$2.00	\$83.78
Twice a Week	\$125.87	1.05	\$132.16	\$2.00	\$134.16		Twice a Week	\$126.84	1.05	\$133.18	\$2.00	\$135.18
Three a Week	\$173.34	1.05	\$182.01	\$2.00	\$184.01		Three a Week	\$174.67	1.05	\$183.41	\$2.00	\$185.41
Four a Week	\$221.93	1.05	\$233.03	\$2.00	\$235.03		Four a Week	\$223.64	1.05	\$234.82	\$2.00	\$236.82
Five a Week	\$269.41	1.05	\$282.88	\$2.00	\$284.88		Five a Week	\$271.48	1.05	\$285.06	\$2.00	\$287.06
Six a Week	\$324.61	1.05	\$340.84	\$2.00	\$342.84		Six a Week	\$327.11	1.05	\$343.46	\$2.00	\$345.46
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80		Casters & Locks (each)	\$5.56	1.05	\$5.84	\$2.00	\$7.84
Six Cubic Yard		Franchise	Rate Sub-	Processing	Customer		Six Cubic Yard		Franchise	Rate Sub-	Processing	Customer
Container	Contract Fee	•	Total	Fee	Rate Total		Container	Contract Fee	•	Total	Fee	Rate Total
Once a Week	\$101.58	1.05	\$106.66	\$2.00	\$108.66		Once a Week	\$102.36	1.05	\$107.48	\$2.00	\$109.48
Twice a Week	\$164.51	1.05	\$172.74	\$2.00	\$174.74		Twice a Week	\$165.78	1.05	\$174.07	\$2.00	\$176.07
Three a Week	\$232.97	1.05	\$244.62	\$2.00	\$246.62		Three a Week	\$234.76	1.05	\$246.50	\$2.00	\$248.50
Four a Week	\$301.43	1.05	\$316.50	\$2.00	\$318.50		Four a Week	\$303.75	1.05	\$318.94	\$2.00	\$320.94

Five a Week	\$369.88	1.05	\$388.37	\$2.00	\$390.37
Six a Week	\$437.24	1.05	\$459.10	\$2.00	\$461.10
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80
Eight Cubic Yard		Franchise	Rate Sub-	Processing	Customer
Container	Contract Fee	Multiplier	Total	Fee	Rate Total
Once a Week	\$119.25	1.05	\$125.21	\$2.00	\$127.21
Twice a Week	\$209.78	1.05	\$220.27	\$2.00	\$222.27
Three a Week	\$301.43	1.05	\$316.50	\$2.00	\$318.50
Four a Week	\$391.97	1.05	\$411.57	\$2.00	\$413.57
Five a Week	\$483.62	1.05	\$507.80	\$2.00	\$509.80
Six a Week	\$574.15	1.05	\$602.86	\$2.00	\$604.86
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80

Five a Week	\$372.73	1.05	\$391.36	\$2.00	\$393.36
Six a Week	\$440.61	1.05	\$462.64	\$2.00	\$464.64
Casters & Locks (each)	\$5.56	1.05	\$5.84	\$2.00	\$7.84
Eight Cubic Yard		Franchise	Rate Sub-	Processing	Customer
Container	Contract Fee	Multiplier	Total	Fee	Rate Total
Once a Week	\$120.17	1.05	\$126.18	\$2.00	\$128.18
Twice a Week	\$211.40	1.05	\$221.97	\$2.00	\$223.97
Three a Week	\$303.75	1.05	\$318.94	\$2.00	\$320.94
Four a Week	\$394.99	1.05	\$414.74	\$2.00	\$416.74
Five a Week	\$487.34	1.05	\$511.71	\$2.00	\$513.71
Six a Week	\$578.57	1.05	\$607.50	\$2.00	\$609.50
Casters & Locks (each)	\$5.56	1.05	\$5.84	\$2.00	\$7.84

SECTION 9C SECTION 9C

Ē											
Two Yard Front Load		Franchise	Rate Sub-	Processing	Customer	Two Yard Front Load		Franchise	Rate Sub-	Processing	Customer
Compactor	Contract Fee	Multiplier	Total	Fee	Rate Total	Compactor	Contract Fee	Multiplier	Total	Fee	Rate Total
Once a Week	\$97.16	1.05	\$102.02	\$2.00	\$104.02	Once a Week	\$97.91	1.05	\$102.80	\$2.00	\$104.80
Twice a Week	\$172.25	1.05	\$180.86	\$2.00	\$182.86	Twice a Week	\$173.58	1.05	\$182.26	\$2.00	\$184.26
Three a Week	\$249.54	1.05	\$262.02	\$2.00	\$264.02	Three a Week	\$251.46	1.05	\$264.03	\$2.00	\$266.03
Four a Week	\$324.61	1.05	\$340.84	\$2.00	\$342.84 Four a Week \$3		\$327.11	1.05	\$343.46	\$2.00	\$345.46
Five a Week	\$401.91	1.05	\$422.01	\$2.00	\$424.01	Five a Week	\$405.00	1.05	\$425.25	\$2.00	\$427.25
Six a Week	\$492.45	1.05	\$517.07	\$2.00	\$519.07	Six a Week	\$496.24	1.05	\$521.05	\$2.00	\$523.05
Compactor Rental	\$331.24	1.05	\$347.80	\$2.00	\$349.80	Compactor Rental	\$333.79	1.05	\$350.48	\$2.00	\$352.48
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80	Casters & Locks (each)	\$5.56	1.05	\$5.84	\$2.00	\$7.84
Three Yard Front Load		Franchise	Rate Sub-	Processing	Customer	Three Yard Front Load		Franchise	Rate Sub-	Processing	Customer
Compactor	Contract Fee		Total	Fee	Rate Total	Compactor	Contract Fee		Total	Fee	Rate Total
Once a Week	\$132.50	1.05	\$139.13	\$2.00	\$141.13	Once a Week	\$133.52	1.05	\$140.20	\$2.00	\$142.20
Twice a Week	\$218.61	1.05	\$229.54	\$2.00	\$231.54	Twice a Week	\$220.29	1.05	\$231.31	\$2.00	\$233.31
Three a Week	\$304.74	1.05	\$319.98	\$2.00	\$321.98	Three a Week	\$307.09	1.05	\$322.44	\$2.00	\$324.44
Four a Week	\$390.86	1.05	\$410.40	\$2.00	\$412.40	Four a Week	\$393.87	1.05	\$413.56	\$2.00	\$415.56
Five a Week	\$476.98	1.05	\$500.83	\$2.00	\$502.83	Five a Week	\$480.65	1.05	\$504.69	\$2.00	\$506.69
Six a Week	\$576.36	1.05	\$605.18	\$2.00	\$607.18	Six a Week	\$580.80	1.05	\$609.84	\$2.00	\$611.84
Compactor Rental	\$331.24	1.05	\$347.80	\$2.00	\$349.80	Compactor Rental	\$333.79	1.05	\$350.48	\$2.00	\$352.48
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80	Casters & Locks (each)	\$5.56	1.05	\$5.84	\$2.00	\$7.84
Four Yard Front Load		Franchise	Rate Sub-	Processing	Customer	Four Yard Front Load		Franchise	Rate Sub-	Processing	Customer
Compactor	Contract Fee		Total	Fee	Rate Total	Compactor	Contract Fee		Total	Fee	Rate Total
Once a Week	\$154.58	1.05	\$162.31	\$2.00	\$164.31	Once a Week	\$155.77	1.05	\$163.56	\$2.00	\$165.56
Twice a Week	\$251.75	1.05	\$264.34	\$2.00	\$266.34	Twice a Week	\$253.69	1.05	\$266.37	\$2.00	\$268.37
Three a Week	\$346.70	1.05	\$364.04	\$2.00	\$366.04	Three a Week	\$349.37	1.05	\$366.84	\$2.00	\$368.84
Four a Week	\$443.86	1.05	\$466.05	\$2.00	\$468.05	Four a Week	\$447.28	1.05	\$469.64	\$2.00	\$471.64
Five a Week	\$538.81	1.05	\$565.75	\$2.00	\$567.75	Five a Week	\$542.96	1.05	\$570.11	\$2.00	\$572.11
Six a Week	\$649.23	1.05	\$681.69	\$2.00	\$683.69	Six a Week	\$654.23	1.05	\$686.94	\$2.00	\$688.94
Compactor Rental	\$331.24	1.05	\$347.80	\$2.00	\$349.80	Compactor Rental	\$333.79	1.05	\$350.48	\$2.00	\$352.48
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80	Casters & Locks (each)	\$5.56	1.05	\$5.84	\$2.00	\$7.84
, ,						,			•	·	
Six Yard Front Load		Franchise	Rate Sub-	Processing	Customer	Six Yard Front Load		Franchise	Rate Sub-	Processing	Customer
Compactor	Contract Fee		Total	Fee	Rate Total	Compactor	Contract Fee		Total	Fee	Rate Total
Once a Week	\$203.16	1.05	\$213.32	\$2.00	\$215.32	Once a Week	\$204.72	1.05	\$214.96	\$2.00	\$216.96
	Ţ= 33.2		, _ 	7=.00	7-20.02		7 = 0 L		, _ _ o	72.00	7=20.00

Twice a Week	\$329.03	1.05	\$345.48	\$2.00	\$347.48
Three a Week	\$465.95	1.05	\$489.25	\$2.00	\$491.25
Four a Week	\$602.86	1.05	\$633.00	\$2.00	\$635.00
Five a Week	\$739.77	1.05	\$776.76	\$2.00	\$778.76
Six a Week	\$874.48	1.05	\$918.20	\$2.00	\$920.20
Compactor Rental	\$331.24	1.05	\$347.80	\$2.00	\$349.80
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80

00	\$347.48	Twice a Week	\$331.56	1.05	\$348.14	\$2.00	\$350.14	ì
00	\$491.25	Three a Week	\$469.54	1.05	\$493.01	\$2.00	\$495.01	ı
00	\$635.00	Four a Week	\$607.50	1.05	\$637.88	\$2.00	\$639.88	ı
00	\$778.76	Five a Week	\$745.47	1.05	\$782.74	\$2.00	\$784.74	1
00	\$920.20	Six a Week	\$881.21	1.05	\$925.27	\$2.00	\$927.27	ı
00	\$349.80	Compactor Rental	\$333.79	1.05	\$350.48	\$2.00	\$352.48	1
00	\$7.80	Casters & Locks (each)	\$5.56	1.05	\$5.84	\$2.00	\$7.84	ì
								ì
		· ·					•	
		•					-	
		•					•	
		•					•	
							•	
							•	

Eight Yard Front Load		Franchise	Rate Sub-	Dragossina	Customor
•	C			Processing	Customer
Compactor	Contract Fee	Multiplier	Total	Fee	Rate Total
Once a Week	\$238.49	1.05	\$250.41	\$2.00	\$252.41
Twice a Week	\$419.57	1.05	\$440.55	\$2.00	\$442.55
Three a Week	\$602.86	1.05	\$633.00	\$2.00	\$635.00
Four a Week	\$783.94	1.05	\$823.14	\$2.00	\$825.14
Five a Week	\$967.22	1.05	\$1,015.58	\$2.00	\$1,017.58
Six a Week	\$1,148.30	1.05	\$1,205.72	\$2.00	\$1,207.72
Compactor Rental	\$331.24	1.05	\$347.80	\$2.00	\$349.80
Casters & Locks (each)	\$5.52	1.05	\$5.80	\$2.00	\$7.80
Each Extra		Franchise	Rate Sub-	Processing	Customer
Pick-Up	Contract Fee	Multiplier	Total	Fee	Rate Total
Two Yard	\$44.17	1.05	\$46.38	\$2.00	\$48.38
Three Yard	\$46.38	1.05	\$48.70	\$2.00	\$50.70
Four Yard	\$48.59	1.05	\$51.02	\$2.00	\$53.02
Six Yard	\$53.00	1.05	\$55.65	\$2.00	\$57.65
Eight Yard	\$60.73	1.05	\$63.77	\$2.00	\$65.77
Delivery & Removal	\$55.19	1.05	\$57.95	\$2.00	\$59.95

	Franchise	Rate Sub-	Processing	Customer
Contract Fee	Multiplier	Total	Fee	Rate Total
\$240.33	1.05	\$252.34	\$2.00	\$254.34
\$422.80	1.05	\$443.94	\$2.00	\$445.94
\$607.50	1.05	\$637.88	\$2.00	\$639.88
\$789.98	1.05	\$829.48	\$2.00	\$831.48
\$974.67	1.05	\$1,023.40	\$2.00	\$1,025.40
\$1,157.14	1.05	\$1,215.00	\$2.00	\$1,217.00
\$333.79	1.05	\$350.48	\$2.00	\$352.48
\$5.56	1.05	\$5.84	\$2.00	\$7.84
	Franchise	Rate Sub-	Processing	Customer
Contract Fee	Multiplier	Total	Fee	Rate Total
\$44.51	1.05	\$46.74	\$2.00	\$48.74
\$46.74	1.05	\$49.07	\$2.00	\$51.07
\$48.96	1.05	\$51.41	\$2.00	\$53.41
\$53.41	1.05	\$56.08	\$2.00	\$58.08
\$61.20	1.05	\$64.26	\$2.00	\$66.26
\$55.61	1.05	\$58.40	\$2.00	\$60.40
	\$240.33 \$422.80 \$607.50 \$789.98 \$974.67 \$1,157.14 \$333.79 \$5.56 Contract Fee \$44.51 \$46.74 \$48.96 \$53.41 \$61.20	Contract Fee Multiplier \$240.33	Contract Fee Multiplier Total \$240.33 1.05 \$252.34 \$422.80 1.05 \$443.94 \$607.50 1.05 \$637.88 \$789.98 1.05 \$829.48 \$974.67 1.05 \$1,023.40 \$1,157.14 1.05 \$1,215.00 \$3333.79 1.05 \$350.48 \$5.56 1.05 \$5.84 Franchise Franchise Multiplier Total Total Total \$44.51 1.05 \$46.74 \$46.74 \$46.74 1.05 \$49.07 \$48.96 1.05 \$51.41 \$53.41 1.05 \$56.08 \$61.20 \$64.26	Contract Fee Multiplier Total Fee \$240.33 1.05 \$252.34 \$2.00 \$422.80 1.05 \$443.94 \$2.00 \$607.50 1.05 \$637.88 \$2.00 \$789.98 1.05 \$829.48 \$2.00 \$974.67 1.05 \$1,023.40 \$2.00 \$1,157.14 1.05 \$1,215.00 \$2.00 \$3333.79 1.05 \$350.48 \$2.00 \$5.56 1.05 \$5.84 \$2.00 \$44.51 1.05 \$46.74 \$2.00 \$46.74 1.05 \$49.07 \$2.00 \$48.96 1.05 \$51.41 \$2.00 \$53.41 1.05 \$56.08 \$2.00 \$61.20 1.05 \$64.26 \$2.00

SECTION 9D

20 Yard Commercial Franchise Rate Sub- Processing Customer Roll Off Container Contract Fee Multiplier Total Fee Rate Total \$110.42 \$2.00 \$117.94 Delivery 1.05 \$115.94 Day Rental \$5.49 \$3.32 1.05 \$3.49 \$2.00 Haul \$292.60 1.05 \$307.23 \$2.00 \$309.23 Deposit \$0.00 \$0.00 \$0.00 \$0.00 1.05 Per Ton over 6 Tons \$22.22 \$25.33 1.05 \$23.33 \$2.00 30 Yard Commercial Franchise Rate Sub- Processing Customer **Roll Off Container** Total Contract Fee Multiplier Fee Rate Total Delivery \$2.00 \$117.94 \$110.42 1.05 \$115.94 Day Rental \$3.32 1.05 \$3.49 \$2.00 \$5.49 Haul \$331.24 \$2.00 \$349.80 1.05 \$347.80 Deposit \$0.00 1.05 \$0.00 \$0.00 \$0.00 Per Ton over 6 Tons \$22.22 \$25.33 1.05 \$23.33 \$2.00

SECTION 9D

20 Yard Commercial		Franchise	Rate	Sub-	Processing	Customer
Roll Off Container	Contract Fee	Multiplier	Tota	al	Fee	Rate Total
Delivery	\$111.27	1.05	\$116	5.83	\$2.00	\$118.83
Day Rental	\$3.35	1.05	\$3	3.51	\$2.00	\$5.51
Haul	\$294.85	1.05	\$309	9.60	\$2.00	\$311.60
Deposit	\$0.00	1.05	\$0	0.00	\$0.00	\$0.00
Per Ton over 6 Tons	\$22.39	1.05	\$23	3.51	\$2.00	\$25.51
30 Yard Commercial				٠.		
30 Taru Commercial		Franchise	Rate	Sub-	Processing	Customer
Roll Off Container	Contract Fee	Franchise Multiplier	Rate Tota		Processing Fee	Customer Rate Total
	Contract Fee \$111.27			al	ū	
Roll Off Container		Multiplier	Tota \$116	al	Fee	Rate Total
Roll Off Container Delivery	\$111.27	Multiplier 1.05	Tota \$116	al 5.83 3.51	Fee \$2.00	Rate Total \$118.83
Roll Off Container Delivery Day Rental	\$111.27 \$3.35	Multiplier 1.05 1.05	Tota \$116 \$3 \$350	al 5.83 3.51	Fee \$2.00 \$2.00	Rate Total \$118.83 \$5.51
Roll Off Container Delivery Day Rental Haul	\$111.27 \$3.35 \$333.79	Multiplier 1.05 1.05 1.05	Tota \$116 \$3 \$350 \$0	5.83 3.51 0.48	Fee \$2.00 \$2.00 \$2.00	\$118.83 \$5.51 \$352.48

40 Yard Commercial		Franchise	Rate	Sub-	Processing	Customer
Roll Off Container	Contract Fee	Multiplier	To	tal	Fee	Rate Total
Delivery	\$110.42	1.05	\$11	5.94	\$2.00	\$117.94
Day Rental	\$3.32	1.05	\$	3.49	\$2.00	\$5.49
Haul	\$358.85	1.05	\$37	6.79	\$2.00	\$378.79
Deposit	\$0.00	1.05	\$	0.00	\$0.00	\$0.00
Per Ton over 6 Tons	\$22.22	1.05	\$2	3.33	\$2.00	\$25.33

40 Yard Commercial		Franchise	Rate	Sub-	Processing	Customer
Roll Off Container	Contract Fee	Multiplier	Tot	tal	Fee	Rate Total
Delivery	\$111.27	1.05	\$11	6.83	\$2.00	\$118.83
Day Rental	\$3.35	1.05	\$	3.51	\$2.00	\$5.51
Haul	\$361.61	1.05	\$37	9.69	\$2.00	\$381.69
Deposit	\$0.00	1.05	\$	0.00	\$0.00	\$0.00
Per Ton over 6 Tons	\$22.39	1.05	\$2	3.51	\$2.00	\$25.51

SFC	TI.	$\boldsymbol{\cap}$	NI	9	П
SEC	TΙ	U	N	7	u

28 Yard Compactor Service

Delivery

Haul

Install

Deposit

Day Rental

	Franchise	Rate	Sub-	Processing	Customer
Contract Fee	Multiplier	To	tal	Fee	Rate Total
\$110.42	1.05	\$11	5.94	\$2.00	\$117.94
\$12.89	1.05	\$1	3.53	\$2.00	\$15.53
\$325.72	1.05	\$34	2.01	\$2.00	\$344.01
\$662.49	1.05	\$69	5.61	\$2.00	\$697.61

\$0.00

\$0.00

\$0.00

L						
	30 Yard Compactor		Franchise	Rate Sub-	Processing	Customer
	Service	Contract Fee	Multiplier	Total	Fee	Rate Total
I	Delivery	\$110.42	1.05	\$115.94	\$2.00	\$117.94
1	Day Rental	\$12.89	1.05	\$13.53	\$2.00	\$15.53
ı	Haul	\$342.29	1.05	\$359.40	\$2.00	\$361.40
ı	nstall	\$662.49	1.05	\$695.61	\$2.00	\$697.61
I	Deposit	\$0.00	1.05	\$0.00	\$0.00	\$0.00

1.05

\$0.00

35 Yard Compactor		Franchise	Rate Sub-	Processing	Customer
Service	Contract Fee	Multiplier	Total	Fee	Rate Total
Delivery	\$110.42	1.05	\$115.94	\$2.00	\$117.94
Day Rental	\$12.89	1.05	\$13.53	\$2.00	\$15.53
Haul	\$369.88	1.05	\$388.37	\$2.00	\$390.37
Install	\$662.49	1.05	\$695.61	\$2.00	\$697.61
Deposit	\$0.00	1.05	\$0.00	\$0.00	\$0.00

40 Yard Compactor		Franchise	Rate Sub-	Processing	Customer
Service	Contract Fee	Multiplier	Total	Fee	Rate Total
Delivery	\$110.42	1.05	\$115.94	\$2.00	\$117.94
Day Rental	\$12.89	1.05	\$13.53	\$2.00	\$15.53

SECTION 9D

28 Yard Compactor		Franchise	Rate Sub-	Processing	Customer
Service	Contract Fee	Multiplier	Total	Fee	Rate Total
Delivery	\$111.27	1.05	\$116.83	\$2.00	\$118.83
Day Rental	\$12.99	1.05	\$13.64	\$2.00	\$15.64
Haul	\$328.23	1.05	\$344.64	\$2.00	\$346.64
Install	\$667.59	1.05	\$700.97	\$2.00	\$702.97
Deposit	\$0.00	1.05	\$0.00	\$0.00	\$0.00

30 Yard Compactor		Franchise	Rate	Sub-	Processing	Customer
Service	Contract Fee	Multiplier	Tot	:al	Fee	Rate Total
Delivery	\$111.27	1.05	\$11	6.83	\$2.00	\$118.83
Day Rental	\$12.99	1.05	\$1	3.64	\$2.00	\$15.64
Haul	\$344.93	1.05	\$36	2.17	\$2.00	\$364.17
Install	\$667.59	1.05	\$70	0.97	\$2.00	\$702.97
Deposit	\$0.00	1.05	\$	0.00	\$0.00	\$0.00

	Franchise	Rate	Sub-	Processing	Customer
Contract Fee	Multiplier	To	tal	Fee	Rate Total
\$111.27	1.05	\$11	L6.83	\$2.00	\$118.83
\$12.99	1.05	\$1	L3.64	\$2.00	\$15.64
\$372.73	1.05	\$39	91.36	\$2.00	\$393.36
\$667.59	1.05	\$70	0.97	\$2.00	\$702.97
\$0.00	1.05	ç	0.00	\$0.00	\$0.00
	\$111.27 \$12.99 \$372.73 \$667.59	Contract Fee Multiplier \$111.27	Contract Fee Multiplier To \$111.27 1.05 \$11 \$12.99 1.05 \$3 \$372.73 1.05 \$35 \$667.59 1.05 \$70	Contract Fee Multiplier Total \$111.27 1.05 \$116.83 \$12.99 1.05 \$13.64 \$372.73 1.05 \$391.36 \$667.59 1.05 \$700.97	Contract Fee Multiplier Total Fee \$111.27 1.05 \$116.83 \$2.00 \$12.99 1.05 \$13.64 \$2.00 \$372.73 1.05 \$391.36 \$2.00 \$667.59 1.05 \$700.97 \$2.00

40 Yard Compactor		Franchise	Rate Sub-	Processing	Customer
Service	Contract Fee	Multiplier	Total	Fee	Rate Total
Delivery	\$111.27	1.05	\$116.83	\$2.00	\$118.83
Day Rental	\$12.99	1.05	\$13.64	\$2.00	\$15.64

Haul	\$342.29	1.05	\$359.40	\$2.00	\$361.40
Install	\$662.49	1.05	\$695.61	\$2.00	\$697.61
Deposit	\$0.00	1.05	\$0.00	\$0.00	\$0.00
42 Yard Compactor		Franchise	Rate Sub-	Processing	Customer
Service	Contract Fee	Multiplier	Total	Fee	Rate Total
Delivery	\$110.42	1.05	\$115.94	\$2.00	\$117.94
Day Rental	\$18.21	1.05	\$19.12	\$2.00	\$21.12
Haul	\$369.88	1.05	\$388.37	\$2.00	\$390.37
Install	\$662.49	1.05	\$695.61	\$2.00	\$697.61
Deposit	\$0.00	1.05	\$0.00	\$0.00	\$0.00

Haul	\$344.93	1.05	\$362.17	\$2.00	\$364.17
Install	\$667.59	1.05	\$700.97	\$2.00	\$702.97
Deposit	\$0.00	1.05	\$0.00	\$0.00	\$0.00
42 Yard Compactor		Franchise	Rate Sub-	Processing	Customer
Service	Contract Fee	Multiplier	Total	Fee	Rate Total
Delivery	\$111.27	1.05	\$116.83	\$2.00	\$118.83
Day Rental	\$18.35	1.05	\$19.27	\$2.00	\$21.27
Haul	\$372.73	1.05	\$391.36	\$2.00	\$393.36
Install	\$667.59	1.05	\$700.97	\$2.00	\$702.97
Deposit	\$0.00	1.05	\$0.00	\$0.00	\$0.00

EXHIBIT A - July 2019

Solid Waste Collection Franchise Agreement - Waste Connections

(Rate paid to Service Provider - does not include Franchise Fee or Processing Fee)

Rates for Section 9A - Residential				
Residential Monthly Cost	\$14.44			
Recycling Monthly Cost	\$1.56			
Total Residential Monthly Cost	\$16.00			

Rates for Section 9B - Hand Pick Commercial						
96 Gallon Monthly Container Fee - Times picked up per week						
1 time 2 times 3 times 4 times						
First Container	\$20.58	\$31.71	\$42.84	\$53.96		
Each Additional Container \$10.02 \$20.03 \$30.05 \$40.						
Replacement of carts due to negli	\$75.00	each				

	Rates for Section	on 9C - Regula	ar Commercia	l and Industri	al		•
Front Lo	oat Container N	onthly Fee -	Times picked	up per week			
	1 time	2 times	3 times	4 times	5 times	6 times	
Two Yard Container	\$48.96	\$86.78	\$125.73	\$163.56	\$202.50	\$248.12	
Three Yard Container	\$66.76	\$110.15	\$153.54	\$196.93	\$240.33	\$290.40	
Four Yard Container	\$77.89	\$126.84	\$174.67	\$223.64	\$271.48	\$327.11	
Six Yard Container	\$102.36	\$165.78	\$234.76	\$303.75	\$372.73	\$440.61	
Eight Yard Container	\$120.17	\$211.40	\$303.75	\$394.99	\$487.34	\$578.57	
Casters and Locking Devices \$5.56 per item per month							
	Front L	oad Compact	or Service				Monthly
	1 time	2 times	3 times	4 times	5 times	6 times	Rental
Two Yard Container	\$97.91	\$173.58	\$251.46	\$327.11	\$405.00	\$496.24	\$333.79
Three Yard Container	\$133.52	\$220.29	\$307.09	\$393.87	\$480.65	\$580.80	\$333.79
Four Yard Container	\$155.77	\$253.69	\$349.37	\$447.28	\$542.96	\$654.23	\$333.79
Six Yard Container	\$204.72	\$331.56	\$469.54	\$607.50	\$745.47	\$881.21	\$333.79
Eight Yard Container	\$240.33	\$422.80	\$607.50	\$789.98	\$974.67	\$1,157.14	\$333.79
Casters and Locking Devices		\$5.56	per item per i	month			

Dates fo	r Coation OD Intorn	ittant Camma	بمثما ممط اسط	.atrial			
Rates for Section 9D - Intermittent Commercial and Industrial Front Load Container							
	2 Yard	3 Yard	4 Yard	6 Yard	8 Yard		
Each Extra Pick Up	\$44.51	\$46.74	\$48.96	\$53.41	\$61.20		
Delivery Charges and disc	ontinued removals		\$55.61				
	Commercial Roll Off	f Container					
	Delivery	Day Rental	Haul	Deposit			
20 Yard	\$111.27	\$3.35	\$294.85	none			
30 Yard	\$111.27	\$3.35	\$333.79	none			
40 Yard	\$111.27	\$3.35	\$361.61	none			
Additional \$22.39 per ton	for over 6 tons for a	ll sizes					
	Compa	ctor Service					
	Delivery	Day Rental	Haul	Install	Deposit		
28 Yard	\$111.27	\$12.99	\$328.23	\$667.59	none		
30 Yard	\$111.27	\$12.99	\$344.93	\$667.59	none		
35 Yard	\$111.27	\$12.99	\$372.73	\$667.59	none		
40 Yard	\$111.27	\$12.99	\$344.93	\$667.59	none		
42 Yard	\$111.27	\$18.35	\$372.73	\$667.59	none		

\$68.43

\$57.00

EXHIBIT B - JANUARY 2021

Solid Waste Collection Franchise Agreement - Waste Connections

2.5% RESI CPI 1/1/2021, no PI in 2020

Rates for Section 9A - Residential				
Residential Monthly Cost	\$14.80			
Recycling Monthly Cost	\$1.60			
Total Residential Monthly Cost	\$16.40			

City will Quote, Set up, and bill all RESI.

North Angleton Trash- T, F

South Angleton Trash- M, H

Recycle All Angleton- Wednesdays

Note: Additional carted residential service is \$10.49 in RMO and billed by qty.

Rates for Section 9B - Hand Pick Commercial						
96 Gallon Monthly Container Fee - Times picked up per week						
1 time 2 times 3 times 4 time						
First Container	\$21.09	\$32.50	\$43.91	\$55.31		
Each Additional Container \$10.27 \$20.53 \$30.80 \$41						
Replacement of carts due to negligence by customer			\$75.00	each		

2.5% CO CPI 2021

	2.5% CO CPI /	2021					
	Rates for Section 9C - Regular Commercial and Industrial						
Front Loat Container Monthly Fee - Times picked up per week							
	1 time	2 times	3 times	4 times	5 times	6 times	
Two Yard Container	\$50.18	\$88.95	\$128.87	\$167.65	\$207.56	\$254.32	
Three Yard Container	\$68.43	\$112.90	\$157.38	\$201.85	\$246.34	\$297.66	
Four Yard Container	\$79.84	\$130.01	\$179.04	\$229.23	\$278.27	\$335.29	
Six Yard Container	\$104.92	\$169.92	\$240.63	\$311.34	\$382.05	\$451.63	
Eight Yard Container	\$123.17	\$216.69	\$311.34	\$404.86	\$499.52	\$593.03	
Casters and Locking Devices		\$5.70	per item pe	er month			
	Front Lo	ad Compactor S	Service				Monthly
	1 time	2 times	3 times	4 times	5 times	6 times	Rental
Two Yard Container	\$100.36	\$177.92	\$257.75	\$335.29	\$415.13	\$508.65	\$342.13
Three Yard Container	\$136.86	\$225.80	\$314.77	\$403.72	\$492.67	\$595.32	\$342.13
Four Yard Container	\$159.66	\$260.03	\$358.10	\$458.46	\$556.53	\$670.59	\$342.13
Six Yard Container	\$209.84	\$339.85	\$481.28	\$622.69	\$764.11	\$903.24	\$342.13
Eight Yard Container	\$246.34	\$433.37	\$622.69	\$809.73	\$999.04	\$1,186.07	\$342.13
Casters and Locking Devices		\$5.70	per item pe	r month			

Rates for Section 9D - Intermittent Commercial and Industrial								
Front Load Container								
	2 Yard	3 Yard	4 Yard	6 Yard	8 Yard			
Each Extra Pick Up	\$45.62	\$47.91	\$50.18	\$54.75	\$62.73			
Delivery Charges and d		\$57.00						
Commercial Roll Off Container								
	Delivery	Day Rental	Haul	Deposit				
20 Yard	\$114.05	\$3.43	\$302.22	none				
30 Yard	\$114.05	\$3.43	\$342.13	none				
40 Yard	\$114.05	\$3.43	\$370.65	none				
Additional \$22.39 per t	on for over 6 tons for	all sizes						
	Compac	tor Service						
	Delivery	Day Rental	Haul	Install	Deposit			
28 Yard	\$114.05	\$13.31	\$336.44	\$684.28	none			
30 Yard	\$114.05	\$13.31	\$353.55	\$684.28	none			
35 Yard	\$114.05	\$13.31	\$382.05	\$684.28	none			
40 Yard	\$114.05	\$13.31	\$353.55	\$684.28	none			
42 Yard	\$114.05	\$18.81	\$382.05	\$684.28	none			

Note: Additional carted residential service is \$10.49 in RMO and billed by qty.

EXHIBIT B - JANUARY 2022

Solid Waste Collection Franchise Agreement - Waste Connections

5.32% RESI CPI 1/1/2022

Rates for Section 9A - Residential				
Residential Monthly Cost	\$15.59			
Recycling Monthly Cost	\$1.69			
Total Residential Monthly Cost	\$17.27			

City will Quote, Set up, and bill all RESI. North Angleton Trash- T, F South Angleton Trash- M, H Recycle All Angleton- Wednesdays

Note: Additional carted residential service is \$11.05 in RMO and billed by qty.

Rates for Section 9B - Hand Pick Commercial						
96 Gallon Monthly Container Fee - Times picked up per week						
1 time 2 times 3 times 4 time						
First Container	\$22.22	\$34.23	\$46.25	\$58.25		
Each Additional Container \$10.82 \$21.62 \$32.44 \$						
Replacement of carts due to negligence by customer			\$78.99	each		

5 32% CO CPI 2022

	5.32% CO CP	2022					
	Rates for Section	n 9C - Regular	Commercial	and Indust	rial		
Front Lo	Front Loat Container Monthly Fee - Times picked up per week						
	1 time	2 times	3 times	4 times	5 times	6 times	
Two Yard Container	\$52.85	\$93.68	\$135.73	\$176.57	\$218.60	\$267.85	
Three Yard Container	\$72.07	\$118.91	\$165.75	\$212.59	\$259.44	\$313.50	
Four Yard Container	\$84.08	\$136.93	\$188.56	\$241.43	\$293.07	\$353.13	
Six Yard Container	\$110.50	\$178.96	\$253.43	\$327.91	\$402.37	\$475.65	
Eight Yard Container	\$129.73	\$228.21	\$327.91	\$426.40	\$526.10	\$624.58	
Casters and Locking Devices		\$6.00	per item pe	r month			
	Front Lo	oad Compactor	Service				Monthly
	1 time	2 times	3 times	4 times	5 times	6 times	Rental
Two Yard Container	\$105.70	\$187.38	\$271.46	\$353.13	\$437.21	\$535.71	\$360.34
Three Yard Container	\$144.14	\$237.81	\$331.51	\$425.19	\$518.88	\$626.99	\$360.34
Four Yard Container	\$168.16	\$273.87	\$377.16	\$482.85	\$586.14	\$706.26	\$360.34
Six Yard Container	\$221.00	\$357.93	\$506.88	\$655.81	\$804.76	\$951.29	\$360.34
Eight Yard Container	\$259.44	\$456.43	\$655.81	\$852.81	\$1,052.19	\$1,249.17	\$360.34
Casters and Locking Devices		\$6.00	per item pe	r month			

Rates fo	or Section 9D - Interm	ittent Commerci	al and Indu	strial	
	Front Loa	ad Container			
	2 Yard	3 Yard	4 Yard	6 Yard	8 Yard
Each Extra Pick Up	\$48.05	\$50.46	\$52.85	\$57.66	\$62.73
Delivery Charges and d	iscontinued removals		\$60.03		
	Commercial Roll Of	f Container			
	Delivery	Day Rental	Haul	Deposit	
20 Yard	\$120.12	\$3.62	\$318.30	none	
30 Yard	\$120.12	\$3.62	\$360.34	none	
40 Yard	\$120.12	\$3.62	\$390.37	none	
Additional \$22.39 per t	on for over 6 tons for	all sizes			
	Compa	ctor Service			
	Delivery	Day Rental	Haul	Install	Deposit
28 Yard	\$120.12	\$14.02	\$354.33	\$720.68	none
30 Yard	\$120.12	\$14.02	\$372.36	\$720.68	none
35 Yard	\$120.12	\$14.02	\$402.37	\$720.68	none
40 Yard	\$120.12	\$14.02	\$372.36	\$720.68	none
42 Yard	\$120.12	\$19.81	\$402.37	\$720.68	none

Note: Additional carted residential service is \$11.05 in RMO and billed by qty.

EXHIBIT B - JANUARY 2024

Solid Waste Collection Franchise Agreement - Waste Connections

12.9% RESI CPI 1/1/2024

Rates for Section 9A - Residential					
Residential Monthly Cost	\$17.60				
Recycling Monthly Cost	\$1.90				
Total Residential Monthly Cost	\$19.50				

Three Yard Container

Four Yard Container

Eight Yard Container

Casters and Locking Devices

Six Yard Container

40 Yard

42 Yard

City will Quote, Set up, and bill all RESI. North Angleton Trash- T, F South Angleton Trash- M, H Recycle All Angleton- Wednesdays

Note: Additional carted residential service is \$12.48 in RMO and billed by qty.

12.48

Rates for Section 9B - Hand Pick Commercial								
96 Gallon Monthly Container Fee - Times picked up per week								
1 time 2 times 3 times 4 times								
First Container \$25.08 \$38.65 \$52.21 \$65								
Each Additional Container \$12.21 \$24.41 \$36.62 \$48.8								
Replacement of carts due to negligence by customer \$89.18 each								
12.90% CO CPI 2024								

\$162.73

\$189.85

\$249.51

\$292.91

F	lates for Section	on 9C - Regular	Commercial	and Industi	rial		
Front Loa	at Container M	lonthly Fee - Tin	nes picked u	p per week			
	1 time	2 times	3 times	4 times	5 times	6 times	
Two Yard Container	\$59.67	\$105.77	\$153.24	\$199.35	\$246.80	\$302.41	
Three Yard Container	\$81.37	\$134.25	\$187.13	\$240.02	\$292.91	\$353.94	
Four Yard Container	\$94.93	\$154.59	\$212.89	\$272.57	\$330.88	\$398.68	
Six Yard Container	\$124.76	\$202.05	\$286.12	\$370.21	\$454.28	\$537.01	
Eight Yard Container	\$146.46	\$257.65	\$370.21	\$481.41	\$593.96	\$705.15	
Casters and Locking Devices		\$6.77	per item pe	r month			
	Front Lo	oad Compactor	Service				Monthly
	1 time	2 times	3 times	4 times	5 times	6 times	Rental
Two Yard Container	\$119.33	\$211.56	\$306.48	\$398.68	\$493.61	\$604.81	\$406.82

\$268.49

\$309.19

\$404.10

\$515.30

\$15.83

\$22.36

\$420.40

\$454.28

\$813.65

\$813.65

none

none

\$374.28

\$425.81

\$572.27

\$740.41

\$6.77 per item per month

\$480.04

\$545.14

\$740.41

\$585.81

\$661.75

\$962.82 \$1,187.92 \$1,410.31

\$908.57 \$1,074.01

\$707.87

\$797.37

\$406.82

\$406.82

\$406.82

\$406.82

Rates f	or Section 9D - Interm	ittent Commerc	ial and Indu	ıstrial	•
	Front Lo	ad Container			
	2 Yard	3 Yard	4 Yard	6 Yard	8 Yard
Each Extra Pick Up	\$54.25	\$56.97	\$59.67	\$65.10	\$70.82
Delivery Charges and d	liscontinued removals		\$67.78		
	Commercial Roll Of	f Container			
	Delivery	Day Rental	Haul	Deposit	
20 Yard	\$135.61	\$4.08	\$359.36	none	
30 Yard	\$135.61	\$4.08	\$406.82	none	
40 Yard	\$135.61	\$4.08	\$440.73	none	
Additional \$25.28 per t	on for over 6 tons for	all sizes			
	Compa	ctor Service			
	Delivery	Day Rental	Haul	Install	Deposit
28 Yard	\$135.61	\$15.83	\$400.04	\$813.65	none
30 Yard	\$135.61	\$15.83	\$420.40	\$813.65	none
35 Yard	\$135.61	\$15.83	\$454.28	\$813.65	none

25.28

Note: Additional carted residential service is \$12.48 in RMO and billed by qty.

\$135.61

\$135.61

EXHIBIT B - JANUARY 2025

Solid Waste Collection Franchise Agreement - Waste Connections

2.6% RESI CPI 1/1/2025

Rates for Section 9A - Residential					
Residential Monthly Cost	\$18.06				
Recycling Monthly Cost	\$1.95				
Total Residential Monthly Cost	\$20.01				

City will Quote, Set up, and bill all RESI.

North Angleton Trash- T, F

South Angleton Trash- M, H

Recycle All Angleton- Wednesdays

Note: Additional carted residential service is \$12.80 in RMO and billed by qty.

12.80

Rates for Section 9B - Hand Pick Commercial								
96 Gallon Monthly Container Fee - Times picked up per week								
1 time 2 times 3 times 4 times								
First Container \$25.73 \$39.65 \$53.57 \$								
Each Additional Container \$12.53 \$25.05 \$37.58 \$50.09								
Replacement of carts due to negligence by customer \$91.50 each								

12.90% CO CPI 2024

	12.90% CO CI	1 2024						
	Rates for Section 9C - Regular Commercial and Industrial							
Front Lo	at Container M	onthly Fee - Tin	nes picked u	p per week				
	1 time	2 times	3 times	4 times	5 times	6 times		
Two Yard Container	\$61.22	\$108.52	\$157.22	\$204.53	\$253.22	\$310.27		
Three Yard Container	\$83.48	\$137.74	\$192.00	\$246.26	\$300.53	\$363.14		
Four Yard Container	\$97.40	\$158.61	\$218.42	\$279.66	\$339.48	\$409.04		
Six Yard Container	\$128.00	\$207.30	\$293.56	\$379.83	\$466.09	\$550.97		
Eight Yard Container	\$150.27	\$264.35	\$379.83	\$493.93	\$609.41	\$723.49		
Casters and Locking Devices		\$6.95	per item pe	r month				
	Front Lo	oad Compactor	Service				Monthly	
	1 time	2 times	3 times	4 times	5 times	6 times	Rental	
Two Yard Container	\$122.43	\$217.06	\$314.45	\$409.04	\$506.44	\$620.54	\$417.40	
Three Yard Container	\$166.96	\$275.47	\$384.01	\$492.53	\$601.04	\$726.28	\$417.40	
Four Yard Container	\$194.79	\$317.23	\$436.88	\$559.31	\$678.96	\$818.10	\$417.40	
Six Yard Container	\$256.00	\$414.61	\$587.15	\$759.67	\$932.19	\$1,101.93	\$417.40	
Eight Yard Container	\$300.53	\$528.70	\$759.67	\$987.85	\$1,218.80	\$1,446.98	\$417.40	
Casters and Locking Devices		\$6.95	per item pe	r month				

Rates for Section 9D - Intermittent Commercial and Industrial											
	Front Load Container										
	2 Yard	3 Yard	4 Yard	6 Yard	8 Yard						
Each Extra Pick Up	\$55.66	\$58.45	\$61.22	\$66.79	\$72.66						
Delivery Charges and discontinued removals			\$69.54								
Cor	mmercial Roll Of	f Container									
	Delivery	Day Rental	Haul	Deposit							
20 Yard	\$139.14	\$4.19	\$368.70	none							
30 Yard	\$139.14	\$4.19	\$417.40	none							
40 Yard	\$139.14	\$4.19	\$452.19	none							
Additional \$25.94 per ton for	over 6 tons for	all sizes									
	Compa	ctor Service									
	Delivery	Day Rental	Haul	Install	Deposit						
28 Yard	\$139.14	\$16.24	\$410.44	\$834.81	none						
30 Yard	\$139.14	\$16.24	\$431.33	\$834.81	none						
35 Yard	\$139.14	\$16.24	\$466.09	\$834.81	none						
40 Yard	\$139.14	\$16.24	\$431.33	\$834.81	none						
42 Yard	\$139.14	\$22.95	\$466.09	\$834.81	none						

25.94